EXERCISE 7.4

In problem 1— 6, simply each expression to
single trigonometric function:
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In problem 7 — 24, verify the identities

Q.7.

(1-sinB) (1+sinB) = cos?0

Solution:
LH.S = (1-sin8) (1 +sinB)
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Q.9. (tan® + cotB) tanb = sec’d
Solution: Let
L.HS = (tan® + cotB) tan®

= tan?0 + cotf. tan®
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Solution: Let
L.H.S = (cotd + cosecO) (tanB — sinf )
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Solution: Let
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tan® 6 —1
= (sinB + cosB) + (tan?0 — 1)
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sin
Solution: Let
LHS = COS-9+31}19
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LHS=RH.S
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Q.13. secB-cos® = tan® .sind

Solution: Let
LHS = secH-cos®

= ! —cosf
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cos 8
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= sin@
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Solution: Let
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Q.15. tanB + cotd = secH. cosecO
Solution: Let

L.H.S = tan® + cot®
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cos@ sin@
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cos @.sin 6
= L ( sin20+cos20=1)
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L.HS=R.H.S
Q.16. (tanB+cotB) (cosB+sinb) = sec(—)+cosec9
Solution: Let
L.H.S = (tan® + cotB) (cosO + sinb )
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Q.17. sin® (tan® + cotd) = sech
Solution: Let

L.H.S = sin® (tanB + cotB )
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]
cos 6
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LHS=R.H.S




Q.18. L ::)S + 3 sin = 2cosec Q.20. i +an - ;—sfn =4tan sec
i +cos —sin +sin
Solution: l;lei cos®  sind Solution: Let
LS = sin@ * l+cos @ LHS = l+S{n9 = l_“jne
v oos 9)5{- (m 9)2 l-sin@ 1+sin6
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) i Q.21. sin30 = sinB — sinb.cos20
Q.19. oot Treos = 2cosec’® Solution: Let
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— 2 cosecd = C0s?0 — sin%p
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Solution: Let
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